
https://www.pass4itsure.com/qsda2018.html
2024 Latest pass4itsure QSDA2018 PDF and VCE dumps Download

 

 

 

QSDA2018Q&As

Qlik Sense Data Architect Certification Exam

Pass Qlik QSDA2018 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/qsda2018.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Qlik Official
Exam Center

 

 

Latest QSDA2018 Dumps | QSDA2018 Exam Questions | QSDA2018 Braindumps                              1 / 11

https://www.pass4itsure.com/qsda2018.html
https://www.pass4itsure.com/qsda2018.html
https://www.pass4itsure.com/qsda2018.html


https://www.pass4itsure.com/qsda2018.html
2024 Latest pass4itsure QSDA2018 PDF and VCE dumps Download

QUESTION 1

Refer to the exhibit. 

One of the data sources a data architect must add for a newly developed app is an Excel spreadsheet. The Region field
only was values for the first record for the region. The data architect must perform a transformation so that each row
contains the correct Region. 

Which function should the data architect implement to resolve this issue? 

A. CrossTable 

B. IntervalMatch 

C. Above 

D. Previous 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibits. 
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Business analytics report data issues in the Value field of a table since the latest reload of the data. 

What causing this issue? 

A. Null values in the source data 

B. Hyphen characters (`-`) in the source data 

C. Pre-aggregated data is being used 

D. Some categories do NOT exist in the Category table 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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A data architect needs to build a dashboard that displays the aggregated sales for each sales representative. All
aggregations on the data must be performed in the script. 

Which script should the data architect use to meet these requirements? 
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A. B. 
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C. D. 

Correct Answer: D 
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QUESTION 4

Refer the exhibit. 

A new app is being developed. Users need to see: 

Total sales for each customer 

Total sales for given state 

Customers that have not had any sales 

Names of salesperson and regional manager 

Total number of sales by date 

The data architect constructs several data models and tests the validity of each model. 

Which two data models meet these requirements? (Choose two.) 

A. 

The data architect aliases the MrgID field to RegionalAcctMgrID and the CustID field in the Customers table. 
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B. 

The data architect loads two copies of the Employees table, aliases the appropriate fields, and aliases the CustID field
when loading the Customers table. 

C. 

The data architect performs two Left Joins to the Sales table to get the Employee names and loads the Customers table
aliasing the CustID field. 
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D. 

The data architect performs three Left Joins to load the Customer and Employee data fields into the Sales table. 

Correct Answer: BD 

 

QUESTION 5

Refer to the exhibit. 
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A data architect has two tables that contain Sales and target data for employees. The tables are loaded into Qlik Sense
and are associated by EmployeeID. The data architect creates a bar chart of total Sales vs. Target. The architect
notices some values for target are too high, and employees with NO sales should be excluded. 

Which function should the data architect use to resolve these issues? 

A. Left Join 

B. Inner Join 

C. Left Keep 

D. Outer Join 

Correct Answer: B 

Latest QSDA2018 Dumps QSDA2018 Exam Questions QSDA2018 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest QSDA2018 Dumps | QSDA2018 Exam Questions | QSDA2018 Braindumps                             11 / 11

https://www.pass4itsure.com/qsda2018.html
https://www.pass4itsure.com/qsda2018.html
https://www.pass4itsure.com/qsda2018.html
http://www.tcpdf.org
https://www.pass4itsure.com/qsda2018.html
https://www.pass4itsure.com/qsda2018.html
https://www.pass4itsure.com/qsda2018.html

